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I. Four alternatives are given for each of the following questions/incomplete
statements. Choose the most appropriate one and write along with its alphabet:
905 TIceowh TBhRR/eTlenr Beddrie Tooy sadinivey @eRnd. T8 Regmed

UVBOSR), &0 BoO: _ ‘ _ 8X1=8

1. The sum of first ‘n’ odd natural numbers is 196. The value of ‘n’is,
S8 ‘n’ oS @m&)ﬁ Rosdnid e 196 e, ‘n' 3 a3
A) 12 - B)21 C) 14 D) 41

2. The area of sector angle ‘@’ is calculated by
‘D’ 4peTSRy BeodWE 9,080 wodn DRersrsdly SiRe WIS XeY

0 “ B

9
3600 X 20ir D) 3600

3600

n..
3600

A)—X2nr*  B) X M

X nr? C)

3. If the H.C.F of 30 and 24 is 6, then their L.C.M is,
30 &) 24 0 D 6 &t OJYNY 0.7
A8 B) 72 )18  D)120
4. The distance of a point (= 6, y) is 10 units from the';)rigin. The value of y s,
wocd 90cd (=6, y) BeogBom 10 wRsne ReoSdd. v § B
A)8 B) 64 C)-8 | _ D) -64
5. The last term of an A.P of ‘n’ terms whose first termis x’ and the common

difference ‘y’ is
Sese S8 xS SR SERe Y Beidds 2,05 Xeeoss Be@ad ‘n’ &I

A)x+xy+y B)x—xy+y C)x+xy-y D) x—xy-y

6. The condition for two lines ajx+bjy+c; =0 and axx + b,y +c;=0to be parallel,
ax+byy+c =03y axx+ b,y + ¢; = 0 OB Seadneh FSRTOSTTNTLITET JDT VoS
B B 51 ag , b1 & c s 8 O &

A) as bz - cz B) aj i bz ¢ Cq ) az bz cz D) az bz cz
7. The areas of two similar triangles are in the ratio 25 : 100. If one of the corresponding

sides is 8cm, then the length of the other side is,
S0 ICRS Jpdene Hhecsrrid e 25 : 100. 2o exhoess wemis mxg

8 Fo.8e &038, S0 eohdess LTINS emcio
A)14cm/14 Zooe  B) 10cm/10 Zodoe  C) 16cm/16 Bo.doe D) 25cm/25 Bo.doe

8. In the AABC, % = :—E then which one of the following is a true statement?

BABCabY X =L wcd, 8 0RO ates woch Bedd ToateATl? A

A) XY is perpendicular to BC/ XY 0w BC
B) XY is parallel to BC/ XY &s»me020 BC
C) XY is equal to BC/ XY & BC

D) XY is perpendicular to AB/ XY eoe) AB B C




Il. Answer the following questions: 8 g¢az TNt evZoA: 8X1=8

9. Write the formula to find the sum of first ‘n’ natural numbers.
Lz ‘n’ mge,m.')a' Kioa%d# ReB somdiaatnes TRE 28dO.
10. Define tangent of a circle.
B Rorva ik,

11. In the figure, PR = 4cm and QR = 3cm,
then find AB + CD.

rﬁg:iep, PR = 430.Qo¢ T QR = 330.Q0¢
&TS  AB +CD w363 Bo@izadhd,

12. In the figure, LAPB = 70°, then find LAOP. | ~
833, LAPB =70" &3 LAOP sombtood. P

n_ m+n
13.1fm" = 81, where m and n are positive integers, then find the value of N"

L
M =813Q mab® n Eodemroiv o8 N7 § B BoaBLAS.

14. State whether the graph of y=1 is a vertical line or a horizontal line.
y=1 Sgodo ooy desdabe oo oz deadabe Docd YR A

15. ABCD is a rhombus of side 6cm. Find the value of AC? + BD2
ABCD emgab wemids evg 6 Rodde . ACT + BD® & 3¢ Somr&dctod.

16. If the system of equations 2x + 3y =7 and 2ax + (a+h) y =2§-.has infinitely maﬂcv
solutions, then find the value of (a+b).
2x + 3y =7 &3 2ax + (a+b) y =28 dea:a{ﬁ Réecearte edee@oln O Tosdab
 SOmROnTR) BeodD, (atb) ab w8 Fo@ERWO.
lll. Answer the following questions: g #¢AT TN evzoh ' 8X2=16

17. Prove that 3+V5 is anirrational number.  3+V/5 soc eaeparfeab Tosd, Doch THA.

18. The first term of an A.P is 5 and the last term is 145. Find the number of terms if

their sum is 600
2,00 RVedeodd Ze@od Sy TE 5 BHFY dedoh T 145. BT Ve 600 e

TEY Tosdobiat) FomEBANO.
19. In AABC, DE||BC. If BD=7.2cm, AE=1.8cm and EC=5.4cm, then find the length of AB.

AABC o) DE| | BC. BD=7.280.80¢, AE=180.L0¢ 0% EC=5.420.00¢ 038 AB g3 8c&Bowd.

20. The radii of the two circles are 8cm and 6cm respectively. Find the radius of the
circle having area equal to the sum of the areas of two circles.

DO0BD FPrd uriwh Febesen 80.Q0e ) 6B0.8oe. B DO sErd Decorniv?
Sy Jsbwess Dieeoray¥ BB e,y HoBBAD. .

21. Solve the following pair of linear equations by substitution method 3x-y=3and 9x-3y=9
weed DeesRom $9NS Ceandd Jdoesdrs eloedaba) dk 3x-y =3 DR 9x—-3y=9

22. Draw a circle of radius 4cm. Construct two tangents from an external point P which

is 3cm away from the circle. '
4 Bodoe SuRyY word TBHX) o9, B 3 Fo.doe ERodME wemedord P oo

3¢ o0 Forevsy ouh.



23. Define the following by drawing a suitable diagram.

Regen ES DU, SNV TyERIN.
i) Secant - &8 gew ii) Sector — 830,080 a0
OR egse

Show that the perimeter of a circle of radius ‘r’ is 20r.
T 3y Y¢ womd FBB T 2Mr Hocd 20N,

24, Find the ratio in which line segment joining the points (- 3, 10) and (6, — 8) is divided by (-1, 6).
(-3, 10) &=y (6, -8) evorHrivay BeORE Seazoaomeay (~16) edochiy) e
aa’om@dﬁ;& o A0.

IV. Answer the following qu'estidns: 8 89N TRV evzod 9X3=27

25. Prove that the tangents drawn from an external point of a circle are equal.
oD FBY OIS0 LREEIEHNIE HVE JBeTRH Ted Do TRk
| OR eps0
Prove that the tangents drawn at the ends of a diameter of a circle are parallel.
TS 0w TR 0BLRHRYY HVE BTN Teemeoss oD TRk
26. 200 logs are stacked in the following manner; 20 logs in the bottom, 19 in the next
row, 18 in the row next to it and so on. In how many rows are the 200 logs placed?
And how many logs are in the top row?

200 oW DR woms seckposs) WY Bedod BeBTSRND. FRNE WITE)

20 a&)irivb &S0 TS 19 aairm X[OR0S Becdoerhd Beeeens. 200 o)

BYNTR) om) WOTY dedRoRNc? ©F08 shreRna ROSLND oS DAY Koaly ST
27. Draw a AABC in which BC=6¢m, AB=5cm and LABC =60°. Then construct a

triangle whose sides are % of the correspondi'ng sides of the AABC.

BC=630.&0¢, AB=530.80 3 LABC =60° 50asod AABC abdy Cudd So3d sh3gomd
Sowsiny om0 eeained AABC ab ©ROCET wedne 3/4 04Rwed Ciik.

28. In the figure, P and Q have co-ordinates 'y
(6, 8) and (0,6). Find the co-ordinates of R. y
d3EQ P %) Q09 ddkezoodrien (68) X >x
(06). R S dckrzoosrive) 3o@ B0, !

29. A fraction becomes 1/3 when 1 is subtracted from the numerator and it becomes
v when 8 is added to its denominator. Find the fraction.
2,00 ePIoedad 0800z 1 &) #doer , PFoedan 1/3 erdzd SHY e ey
8 ety BeBmRr , PRYCRBAMD /4 €3 & PRTeBabey SomEA0D.

30. The radii of two concentric circles are 13cm and 5cm. ABis the chord in the
outer circle which touches the inner circle at P. Find the length of AB.

oo Degeodeod FBRe Jeyricd gebaen 13 Ho.dde TBy 5 Qo.&oe. AB &0 -‘H
SBEYS 87y BT woRBEd) P DomhdTy ForabIW. AB ab evgiEe FombERoo.

31. AB and CD are the two perpendicular diameters of a circle of radius 7cm. Find the
A

area of shaded region.
7 Qo.Lve Y gy AB B (D HU@ TOYD ooy s,
23T eRabrieddits gRrc Aerad) BoEER0W0.

OR e




A square OABC is inscribed in a quadrant OPBQ. 2
If OA = 20cm, then find the area of shaded region( n=3.14). ‘ :
OABC eey OPBQ &3 wdeigeoci) eoszemencs. OA = 20%0.00e ot
B Rabrietha epars} Dherorsinty BomioBw0. 0 g
32. Find the arithmetic progression whose 4" term is 9 and the sum of its 6" and 13"
terms is 40. :

woch Xieoss Feab 4de TR 9. s 6 sy 13 W TSNY e 40 €T
RR0ST BRI HoEA0,
33. A girl of height 90cm is walking away from the base of a lamp port at a speed of

1.2m/s. if the lamp post is 3.6m above the ground, find the length of her shadow

after 5 seconds.
90 Rodoe HYIDDT WabAeyw L200¢/3 BER) LOTHEEE Fowalpons LB

a0 Sdobodree. By Sodos 3.62e DITEYS 4 Bdodorid SoBT oed S0908
VTN, :
V. Answer the following questions: 8 ¢¢AS TRV ev3oR

34. The sum of four consecutive numbers in an A.P is 32 and the ratio of the product of
extremes to the product of their middle terms is 7 : 15. Find the numbers.

2otD RSR0BT FeRab ooy FRSE TEnY Beg 32 Y g e deZ DB
d:rq:g mmi ReTRe FROT LS 7 : 15 ¢nd ¢ TEnvR) soRidnd.

OR e
Find the common difference of an A.P whose first term is 5 and the sum of first four
terms is half the sum of the next four terms. |
ummmge@emmmsm@mmmugmwmg@mmmq
Tone ez wc&'cﬂadd, TRBRTY, FyTRRSTY FoBDBAWD.

35. In a right angled triangle, prove that the square of the hypotenuse is equal to the
sum of the squares of the other two sides.

20 ooders JEbuny, DIerd Srey) evdctd wemnd SHEne desd Kmb Do WGk

36. The wheel of a car is of radius 35cm. Find the number of rotations per
minute that it makes to keep a speed of 66km/hr.

e.0c) 20T T8 3w Seyy 35 Bo.dbe. 663.8oe/r0 Seriady wma&ragen T8 cO.‘.bm'ig 9333

RoseeeE RBNTRY KbZuledord omRAD.
37. Construct tangents to a circle of radius 3cm from a point on the concentric circle of

4X4=16

radius 5cm.
3 Bo.oe &) 5 Do.doe éw*; bﬁeo@eo;b q‘_‘a'iv‘cda LT, Bed :%gk:s fedT eLomd

290z DV z.,#qgg RBrErivs) ok,
VI. Answer the following question: g #¢A3 T ev3dd 5X1=5
38. The sum of the radii of two concentric circles is 8cm and difference of their areas is 16Ncm?.

a) Form the pair of linear equations for the above statement.
b) Find the radii of concentric circles graphically.

oo Dedeoead FINY Seyne HeZ 8 Bodoe DY) oYY Dhecorniv [ 160 Lo.oe’.
a) DT BedBabiy FoewSes BEEY TVHK
b) DEseodead SEriv awmg Sfabauees BoaERod.
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